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Aratio (s a relationghip between two numbers of Lhe game Kind
(C’-é"-; Ohjects, persons, units of some (dentical dimension)

Rotio expressions:
A A+oS ratio conbe expressed as 2:5 (with a colon)

or 2/5 (a fraction).

4 proportion iS an equation With two vatios set equal 4o
cach other.

Example -
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_A Chocolate chip cookie recipe calls for ) cup of brown Susar
and it vields 36 cookies. TL you want £o ywake 2y cookie
instead | hous much brown sugar do you need ?

Let the vatio be cups to yield in the vecipe.

X S =3 = 2 -
3b ~ Y = St _%

So you Should use 2 cup of brown Sugar in yYour new reeipe



Similar _Ff‘iav(\;[rs

Same Shape , different Sizes

Corresponding angles @re equal
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Wrike a proportion with ratios of Corresponclif:}; Sides

y( = 30 Cvoss W\u“:{pLy
{ =%Q divide by U

=15 - 25 Simplify
a - Y

Jane can complete a yob in 4 hours workin7 alone and T/l can
lete ob i 3 hours working alon w would { ta
Lo complete Lthe vb working together?
[ J c/ d
e must find the portions that the c n do [n r
an the Sum egua o the portion +he an do oacthe
i one OUTr. oYt ’1 / ; orking u-' he -éo ’quo
+ he \6b.
) o 1 - N LA+ /Y - /X
Y 3 X (¢ 4 3 X
/1 3 L\ = 2ax/]\ X+ Y =2
(¢ 3) (x.) X =/2

X = /2 == /7 hrs.
7




